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sn= S F1[E 20 -
I% 4% BRGERL%| 7 | Pas | ETe | mER 2E4 el | Afem |Fe| THEE | s
SERR H (BiIRE) (FiIRE) g =
BREFHEISE A& S ERig [BEEMER] 7 610,000 | R3.10.28 EER 1. BFEZ G 7,500,000 B4
R3.10.29 2. \EZEFZGER) 7,670,000
R4.2.18 3. (B)BEME 7,480,000
4. (A)ERM 7,450,000 AL 8,195,000
5. (B)Vv~MEE 7,500,000
6.
7.
8.
9.
10.
HOKBBEESEXICHOITHERE |FRA2FHK |#HENEl 930,000 [ R3.10.28 EEEE 1. —BAHEEA FEAXRESELHREBRELHE 700,000 =R 2y
% B& R3.10.29 2. BHEAHBIEZtHRERAET RS 362,000 &AL 398,200
R3.12.24 3. —BHEEA RRARKBFEEBLHRERAELHE 428000
4
5.
6.
7.
8.
9.
10.
BRBABRBRCHITHETLESE [F1954 4 ZHEAET| 3,350,000 | R3.10.28 EERGER 1. —RHEEA FEAMBRERIHRERELHE 1,650,000 R L)
R3.10.29 2. BHEAHBRAELTHREFAETHS 1,323,000 EAL 1,455,300
R4.2.28 3. —BHERA REAKBEEBLHRERELHE 1,545,000
4,
5.
6.
7.
8.
9.
10.
MWEHFRELIS BDEREBR AHEERER| 3 800,000 | R3.10.28 REEE 1. BEFEZ R 3,690,000 EAL 4,059,000 BEHFE
R3.10.29 2. \EZEFZGER) 3,710,000
R4.3.15 3. (B)EkEM 3,730,000
4. (B)EB#M 3,714,000
5. (B)Vv<ME4A 3,760,000
6.
7.
8.
9.
10.
BWEREMERZKEERTIE (AR wEEMER[ 3 260,000 [ R3.10.28 EER 1. BFEZ G 3,190,000 EaHF
R3.10.29 2. \EZEFZGER) 3,190,000
R4.2.28 3. (B)EkEM 3,220,000
4. (B)EBM 3,245,000
5. (B)V<ME4AE 3,180,000 %L 3,498,000
6.
7.
8.
9.
0.
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e e ERTE BoE |
TE &% BRGERL%| 7 | Pas | ETe | mER ez el | Afem |Fe| THEE | s
SHE (BiHE=) i) | F 2
ERHERELS BB /08 | F9TRRF| 10700000 | R3.1028 | ERE |1 BREEH) 70,590,000 R
R R3.10.29 2. J\ZEEFZRGR) 10,500,000 &AL 11,550,000
R4.3.18 3. (B) kR 10,740,000
4. (B)EEM 10,610,000
5. (B)VY~MEE 10,700,000
6.
7.
8.
9.
10.
HERBEEMBELRC—VAEH [— ZHEEFE[ 10,910,000 [ R3.10.22 | BMKER [1. ZFEZ(E) 10,690,000 eE2Y )
T R3.10.23 2 NERE () 10,830,000
R4.2.28 3. (AR 10,740,000
4. (B)EEM 10,650,000 &AL 11,715,000
5. (B)V~MELE 10,800,000
6.
7.
8.
9.
10.
FRRX BB ALE EEWTREE| AB | 7830000 Ra1028 | SLHER [1. T —1F BELKE 7635000 R
9\ 2844% R3.10.29 2 (R)EHhinE 7,650,000
R4.1.25 3. (BN FL BT 7,600,000 %AL| 8360000
4. (B)MATIHIE 7,690,000
5. () ILAAE 7,700,000
6.
7.
8.
9.
10.
ZHEMX T KEEMR IS T=E4F ZHE=ZE( 1,340,000 [ R3.10.28 | <BLIRIFEE | 1. BRA AT BHWLXIE 1,301,000 Ry
R3.10.29 2. (R)EHhinE 1,300,000
R3.12.20 3 (BN Bl 1,320,000
4. EFTEE (%) 1,310,000
b, J\EEFZGK) 1,315,000
6. (B)ERM 1,290,000 &AL 1,419,000
7.
8.
9.
10.
BB AN B R TR |AEEKE M | 1970000 | R3.1028 | <GLEER | 1. EEHE G BHLE T.880,000 REET
ERTH R3.10.29 2 FETH (W) IBEEER 1,885,000
R4.3.25 3. (M)A E BHIE 1,890,000
4. EKEH () 1,870,000
5. (BR)UA—2—Tv) EHEEZEM 1,820,000 &AL 2,002,000
6.
7.
8.
9.
0.
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e 28 E3lE =M
g P PR (15 %% SUSE | 2T | mERm gy AMEE | e | At
S A (B %) (BiRE) 2
LHRERRNEBEX T R—ILR T [— 10,730,000 | R3.10.28 | <bLE®RER 1. EEBEGR) BHXIE 10,200,000 11,220,000 RSy
BREREHRTZTO R3.10.29 2. FERTZEMR) dbBEEZEAT 10,550,000
R4.3.10 3. phE T (KR LEEEZEmT 10,550,000
4. (¥R)U#—Ro—RL—>3v 10,500,000
5. BrEEE(h) 10,600.000
6.
7.
8.
9.
10.
EEER T AR RS Ry [ LNES 5 40,410,000 | R3.1028 | <oLEEE | 1. BEEE(H) BASE 39,800,000 Py
IT= R3.10.29 2. FETIEMR) LB 40,000,000
R4.3.30 3. ks LD KBS 39,800,000
4. (¥R)U#—ko—RL—>3v 38,300,000 42,130,000
5. e £k 40,000,000
6. (B VS A BB R R
G LTh; R
8. FHKEHE (Bk) 39,700,000
9.
10.
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